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For all the things that are subordinate to the middle term or to the conclusion may be

proved by the same syllogism, if the former are placed in the middle, the latter in the
conclusion [53*17-19]
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e.g. if A belongs to all B and B to some C [53°38]
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true however only in respect to the fact, not to the reason. The reason cannot
be [53°10]
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So A is posited as one thing, being two premisses taken together [53°24]
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e.g. animal belongs to no stone[53"32]
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but if the premiss BC is wholly false [54°4]
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for A belonged to none of the Cs [54°10]
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that A belongs to nothing to which B belongs: here the conclusion must be false.
For A will belong to all C [54"14-15]
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But if the premiss AB, which is assumed, is wholly true, and the premiss BC is wholly
false, a true syllogism will be possible: for nothing prevents A belonging to all B and
to all C, though B belongs to no C, e.g. these being species of the same genus which
are not subordinate one to the other: for animal belongs both to horse and to man, but
horse to no man. If then it is assumed that A belongs to all B and B to all C, the
conclusion will be true, although the premiss BC is wholly false Similarly if the
premiss AB is negative. For it is possible that A should belong neither to any B nor to

any C, and that B should not belong to any C, e.g. a genus to species [54*28-38]
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That the conclusion should be true; also when the first premiss is false in part, and
the other true; and when the first is true, and the particular is false; and when both

are false. For nothing prevents A belonging to no B, but to some C, and B to some
C, e.g. animal [54°20-24]
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For it is possible that A should belong to no B, and not to some C, while B
belongs to no C, e.g. a genus to the species of another genus and to the accident
of its own species: for animal belongs to no number and not to some white
things [55°13-16]
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Also if the premiss AB is partially false, and the premiss BC is false too, the
conclusion may be true [55°20]

Y el e Cor et & sy 5555 o oS Y /4 259 (116
PR P N N T T LY T TR R § LPC PR IUPCN R I SVR T
ol e e e S
For it is possible that A may belong to no B and to some C, while B belongs to no C,
e.g. a genus [55"30-31]
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In the middle figure it is possible in every way to reach a true conclusion through

false premisses [55b4—5]
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For if A belongs to no B and to all C, e.g. animal [55°11-12]
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The premiss AB is partially false, the premiss AC is wholly true [55b37]
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And to some white things, though man will not belong to some white things, If
then [56%8]
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For nothing prevents A following neither B nor C at all, while B does not belong
to some C [56°20-21]
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A should belong both to B and to C as wholes, though B does not follow some

C [56"35]
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If then A is assumed to belong to the whole of B [56°2]
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while A belongs to some B, e.g. white [56"23]
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While A does not belong to all B, e.g. white does not belong to some animals,
beautiful belongs to some animals [56"30-31]
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For nothing prevents B from following all C, and A from not belonging to C at all,
though A belongs to some B, e.g. animal [57°3-5]
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and BC partly false [57°17]
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a true conclusion may come through what is false, in every possible way [57°30]
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or that what belongs to some belongs to all. The same applies to negative
statements [5736]

) sl e 13 52 50 8131 5 13 5 50 bl oS0 ) YU /7 266 (130
)\JE_.';Y\.:.‘S i Jiowed 3 9> g0 uf ol 35> 50 Laaus| bbj |3|ji.>‘9:.-}a Lasa) oS0
Jss 13 g2 50 S5 0556 0l Lol s 1o 50 G QS 131 5 1o g e S5 0550

the former will not be either, but if the latter is, it is not necessary that the former
should be. But it is impossible [57b2—3]
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A will necessarily not be white. If then when this is not white B must be great, it
results that if B is not great, it is great, just as if it were proved through three
terms [57°16-18]
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Circular and reciprocal proof means proof by means of the conclusion, i.e. by
converting one of the premises [57°18-19]
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for it is not possible to demonstrate through these terms that the third belongs to
the middle or the middle to the first [57b35—36]
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that is being proved: for C is proved of B, and B of by assuming that C is said of

and C is proved of A through these premisses, so that we use the conclusion for

the demonstration. In negative syllogisms [58"16-20]
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we conclude that B belongs to no C. If then it is assumed that B belongs to
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all A, it is necessary that A should belong to no C: for we get the second

figure [58°20-22]
Cu@mﬂs Cum@bfjn,“&u‘_,\ i /11 270 (136
the conclusion is BC [58°32]
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it has been proved that C belongs to some B [59%10]
@ o b CQ\S 3 e & B CQ\S\S\ /9 271 (138
if C belongs to some B [5911]
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if this belongs to some of that, that belongs to some of this [59%13]
rJ_L IME] A T FAS 055 ol 5,52 TJL £ /20 271 (140
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it is necessary that A should not belong to some C [59°25]
To) ol s ¥ &Y o A1 o s A op s /2 272 (141
to prove the other: for in no other way can a syllogism be formed [59"32]
L5 ool o8 131 o0 5 Jo¥1 Ul 5 s W) 5 oY1 ISl 5 /8 272 (142
5 S 5 o
and through the first, but when particular through the second and the last

[59%38]

ool e oSN ol Ll sl e oS5 ol Wl /10 272 (143
either are not of the nature of circular proof [59°41]
Lol s ol o LSl s o) oo il WSl Wl /14 272 (144
To convert a syllogism means to alter the conclusion and make another
syllogism [59°1-2]
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if A belongs not to all C, but B belongs to all C, A will belong not to all B [59°31]
Sleasial UL Oy i ug_l.a il uﬂ&u\.a Sleaial Jlay R /6 274 (146
oS Tl QU 50Ny &S e A il WIS
refutation in which the conclusion reached by O, conversion lacks universality, but
no refutation at all. Suppose [59°41]
b 0555 Wl Aol oY s W) Sl b 0,85 Tl ol oY /1 275 (147
il el
For the conclusion of the refutation will always be in the third figure [60"18]
Ce dolly nne C o0 e e Y 5o il /6 275 (148
conclusion BC [60°23]
C Pt 8395 90 b | g uum CJf P 8397 90 pE 1 5/9 275 (149
If B belongs to all C, and A to no C [60%26]
Lodied 2sladly e il SU5 5 @Bldl Jhas Slesdd) o 28ty /11 275 (150
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its contradictory, the premiss AB will be refuted as before, the premiss, AC by its
contradictory. For [60°27-28]
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as also happened in the first figure [60%35]
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the conclusion will be that A does not belong to some C. But the original statement

has not been refuted: for it is possible that A should belong to some C and also not to
some C [60*38-39]
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then B belongs to no C: but it was assumed to belong to some C. If [61%2]
L el Sl e 5 W Sl Jles /10 278 (154
refuted through the middle figure, the premiss [61°10]
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after a syllogism has been formed and both the premisses have been taken, but a

reduction to the impossible takes place not because the contradictory has been

agreed to already, but because it is clear that it is true [61°24-26]
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that C belongs to all A, or that B belongs to all D [61740]
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when the premiss BD is assumed as well we shall prove syllogistically what is false,

but not the problem proposed. For if A belongs to no B, and B belongs to all D, A
belongs to no D. Let this be impossible [61°3-6]

O CJJOJ ooy oY m ol oy CJSQ.‘% o las=y ¥ /15 280 (158
a2l
for let it be true and clear that A belongs to all C [61°16]
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supposed, e.g. that A does not belong to some B. Clearly then [61°19]
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We may proceed in the same way if the proposition CA has been taken as

negative. But if the premiss assumed concerns B, no syllogism will be
possible [61°23-25]
JaoY 56 @42,.1\ ol g sz o) Ly O3 C@ﬂ ME ty‘pf.l\ Ll ,/8 281 (161
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but the hypothesis is not refuted. Therefore it is the contradictory that we must
suppose. To prove that A does not belong to all B, we must suppose that [61°32-34]
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for then the hypothesis would be false [62°6]
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Similarly if we should be proving that A does not belong to some B: for if 'not to
belong to some' and 'to belong not to all' have the same meaning, the demonstration
of both will be identical [62°8-11]
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but the problem in hand is not proved [62*30]
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then A does not belong to some C [62"7]
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that the conclusion should be known, nor that one should suppose beforehand
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that it is true or not: in the other it is necessary to suppose beforehand that it is
not true [62*36-37]
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and the original premisses that C belongs to all A and to no B [63%10]
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if the premiss CA should be negative [63"17]

for thus we shall get what is impossible [63°2]
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that C belongs to no A and to some B [63"11]
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This syllogism differs from the preceding because the relations between the terms

are reversed: before, the affirmative [64*11-12]
S S ) s SIS s o (Sds AUST ) s g0 <131 /3290 (172
o oS Lo

whether the terms are universal or not [64"24]
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so that a particular science will not be a science. Similarly if the premiss BA is not

assumed universally. For if some medicine is science and again [64*28-29]
Y e I3 Ol pall (8 (a2 s Lo SIS /13 290 (174
SIS LS ok o) s et o el am Gell o) S Ll 5 a8 e
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This does not usually escape notice. But it is possible to establish one part of a

contradiction through other premisses, or to assume it in the way suggested in the
Topics [64°37-38]
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not to all of the other [64b3]
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every animal is white and not white [64°22]
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LSl @Mllh&;bﬁolw‘wamwgau.&gﬁ
or we must argue from two syllogisms. In no other way than this, as was said before,
is it possible that the premisses should be really contrary. [64b26-29]
bl iz o Wl g Ol ol bl ) Jaxy o Wl /1 293 (178
PN IR

it is also possible to make a transition to other things which would naturally be

proved through the thesis proposed [64b40]
e @ B Ll s o b Dol e < bl 31 Ll 5 /1 295 (179
C< L delid Je
Further when anything is refuted ostensively by the terms ABC [65b4]
I I SR PR RS v M‘ ol o oSOV L e /5 295 (180
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but that is not possible in ostensive proofs: since if an assumption is refuted, a

syllogism can no longer be drawn in reference to it [65b9-10]
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for if we eliminated A and assumed all the same that B belongs to C and C to

D [66™27]
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e.g. if C is established through A and B, and these through D, E, F, and G, one of

these higher propositions must be false [66*22-23]
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to try to conceal. This will be possible first, if, instead of drawing the conclusions of
preliminary syllogisms, they take the necessary premisses and leave the conclusions
in the dark; secondly if instead of inviting assent to propositions which are closely
connected they take as far as possible those that are not connected by middle terms.
For example suppose that A is [66*36-38]
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One ought then to ask whether A belongs to B, and next whether D belongs to E,

instead of asking whether B belongs to C; after that he may ask whether B belongs
to C, and so on [66°40-41]

v“*‘@"u‘r\”“"yk‘)"‘gc@°33")‘\u\“'€"u‘vl““"y/l7 300 (185
LA}%SQ&»‘}QC&OJ?)A\

1390 liuwe; g 30k 9o ko pg> Jlo ¢ o9 slaio



Ol ss s,k

For he knows in a way that A belongs to C through B [66°32]
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In the former case, where the middle term does not belong to the same series, it is

not possible to think both the premisses with reference to each of the two middle
terms: e.g. [66°34-36]
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But nothing prevents his being ignorant that C exists [67"13]
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for ex hypothesi B belonged to all C. And if C is convertible with B, B is
convertible also with A, for C is said of that of all of which B is said. And if C is
convertible in relation to A and to B, B also is convertible in relation to A. For C
belongs to that to which B belongs: but C does not belong to that to which A
belongs [67°37-68"1]
S5 | e B iayrse Lal £ 5 o3 e B iayrse | 0/2 305 (189
| b 53550 Lial £ 0306 ad 8550 | S 31 oS0 5 ¢
But if A then C: for they are convertible. Therefore C and D belong together. But
this is impossible [68"16]
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it is clear that B will be said of everything of which A is said, except A itself
Again when [6822]
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If then A is an object of desire to the same extent as D, B is an object of aversion to
the same extent as C (since each is to the same extent as each-the one an object of
aversion, the other an object of desire). Therefore [68*30-32]
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But since A and C are preferable to B and D, A cannot be equally desirable with
D; for then B along with D would be equally desirable with A along with C But
if [68°33-34]
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If then every lover in virtue of his love would prefer A, viz. that the beloved should
be such as to grant a favour, and yet should not grant it (for which C stands), to the
beloved’s granting the favour (represented by D) without being such as to grant it
(represented by B), it is clear that A (being of such a nature) is preferable to granting
the favour. [6840-68"3].
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If then C is convertible with B, and the middle term is not wider in extension, it is

necessary [68b25]
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D Thebans against Phocians [692]
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but the relation of the middle to the last term is uncertain though equally or more

probable than the conclusion; or again [69°21-23]
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If now the statement BC is equally or more probable than AC, we have a
reduction [69"28]
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this proof is in the third figure [69°13]
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that which proceeds through the last figure is refutable even if the conclusion is true,
since the syllogism [70%32]
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and among them designate the middle term as the index (for people call that the
index which makes us know, and the middle term above all has this character), or
else we must call the arguments derived from the extremes signs, that derived from

the middle term the index: for that which is proved through the first figure is most
generally accepted and most true [70°1-4].
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